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A BB O (3) - NBAY - BaS e HRS2
601,756 600, 386 1,370
QI XX D1 BH2 3} 215,050 210,676 4,374
FOIHHHEHOIED 67,887 67,553 334
OI2ASHAE MHlA K& 67,887 67,553 334
101 Q1A H| 10,122 10,122 0
04 JIZHMIZ2ZANSE 4 10,122 10,122 0
O=2X3 & 10,122
— Ol | 35,310 » 1¥ = 260 9,181
-2z 9,180,600 * 10.24% 941
201 dBt23 | 11,775 11,441 334
01 At22telyl 6,740 6,481 259
Odet=2H| 6,740
—olg FXEY 2 &7
100,000 * 6 = 2&HXF 1,200
—MEZL= sSAEX
18,000 x 54Xt « 12& 1,080
—XNZMHFI 7 50,000 * 404 200
-0 2T el 350,000 * 43| 1,400
=L Bl I=NEENE T RIE P
1,000,000 1,000
—0IAYeZE HAQ 33 = 3,0000H » 158 1,485
—Q0I=D| 22| 125,000 * 33| 375
02 S=2494l 5,035 4,960 75
OZ2e32 2 HAl 5,035
—ANF LESRERI 5,035
21 gt 220 = 3,0000H 660
=Pl 1,750 = 2,5000H 4,375
301 B2 A3 45,990 45,990 0
05 -2l -&sEs8aa 45,990 45,990 0
Oeletat et S| 45,990
—c| & 42,640
23 200,000 = 13¥ = 12& 31,200
203 200,000 * 13¥ * 23] 5,200
5|0 a4+ g
20,000 * 13¥ = 23| = 12& 6,240
—dtE 3,350
2a3 50,000 * 67 * 13| 3,350
H A2 147,163 143,123 4,040
DIHEHOIAE 29 147,163 143,123 4,040
01 LBt 137,283 135,123 2,160
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2 A2 &
SN I SRI(S) - NRAY - B sk e 2t
OAl & &EHI= Xl 13,854
—EALE -2 & 0 sA2el
100,000 * 6CH 600
—HISAIE =X 187,000 = 12& 2,244
=02 =2l 25,000  4CH 100
—d= /X 8,660
HAH (5= =HHIEZE) 5,000,000 5,000
SXlsl 2 1,500,000 1,500
- SXE2 AYAISFEAHI(1,020m)
1,000,000 1,000
SXlzgl2 =283 80,000 = 123 960
0 2 AL 200,000 200
—NALYMLSRAX(2H0ISHEA) SRNES
75,000 * 3090 & 2,250
OXtg & et 22,559
—AEEE 4,500,000 = 2CH 9,000
—A83E 5,253,000 = 1CH 5,253
—HAX 8,306,000 = 1CH 8,306
401 Al&HI LR OHYI 5,000 5,000 0
01 Al&H| 5,000 5,000 0
OMgel =sclegor € X SN2
5,000,000 5,000
405 KH&HFESH| 4,880 3,000 1,880
01 T =SS HSHI 4,880 3,000 1,880
OHED WwH(48221H) 500,000 = 1H 500
OXHED| WX 400,000 400
OZMI=2EMA 500,000 500
OF0UsE ZEJ| WA 1,000,000 1,000
Qulgl Aol & 500,000 500
OXAT WA 180,000 = 112K 1,980
22X S ARSI & 312,000 312,000 0
ZO2HHA 312,000 312,000 0
AE MEEHOAY 172,000 170,000 2,000
401 Al&HIZL=ROHYI 122,000 120,000 2,000
01 Al&H| 120,000 120,000 0
OAMEMEHAANH(SH) 120,000,000 120,000
03 Al&Z=R0HHl 2,000 0 2,000
OLARMEHAANA(SH) 2,000,000 2,000
402 LIt THE01H 50,000 50,000 0
01 BItGEEX 50,000 50,000 0
OAMEMEHAANH(SH) 50,000,000 50,000
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A 29
i ARDX S A O
el FQSEFHA (&te: @2
i} _ _ bolEN=
2N -3 - c2(3H) - NEME - HES Ol AFoH @;OH Hl =2
C2FHY| 54,000 42,000 12,000
401 Al&HI LS 54,000 42,000 12,000
01 Al&H] 54,000 40,000 14,000
OAB12(2Y) OtARSMNRI|ZAH(7a)
10,000,000 10,000
OZHI2(HEE) SZ20AZHMNRI| 2 AH28a
) 20,000,000 20,000
OZlioe| (HAs) sZ2EESAH(1.2a)
14,000,000 14,000
OMZEel AFENAEQY OtARALMN2T(8a)
10,000,000 10,000
242 FH 86,000 100,000 214,000
401 Al&HI LS 86,000 100,000 A 14,000
01 Al&H] 86,000 100,000 A 14,000
O=2s12] 0|2MA S Hi2=2 X H| =2 AH50m)
13,000,000 13,000
OAg2e] LAAEQF Hi2=2 & H| 2 AH50m)
13,000,000 13,000
O35totoe| WY 242 4 X 2 AHS80m)
20,000,000 20,000
OHEe M2ARS HH=2 FHIZ2AH100m)
20,000,000 20,000
Oo0l=22| =&Y =22 AH(150m)
20,000,000 20,000
HHSHAAH|(2H) 74,706 77,710 A3,004
oleedy|(2H) 11,400 11,400 0
ol 2| 11,400 11,400 0
203 YR =ZAH 10,200 10,200 0
01 D22 ARZ=EIH| 6,600 6,600 0
OJA2IAL=XH|I(EH) 6,600,000 « 19 6,600
02 HRAIMMAREZIH| 600 600 0
OXIIMADE=XH|(B2H) 40,000 * 15% 600
04 BANRIAREEIH| 3,000 3,000 0
OBN2IAL2FIH|(2H) 250,000 * 12& 3,000
204 X R LAY 1,200 1,200 0
03 SR LHSSZH| 1,200 1,200 0
OMRYHYBL22(=H) 100,000 = 1H =12€ 1,200
Jl2ZH(8H) 63,306 66,310 A3,004
Jl=AH| 63,306 66,310 A3,004
201 LEt2HH| 44,838 46,870 A2,032
01 AtR22lH] 44,838 46,870 A2,032
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B HE2YAY (S
&l JI2ZH(SH) (el =@
SN I SRI(S) - NRAY - B 01l &t o Soe B RS2
Oget=&H| 16,938
—SAMEXFY 18,000 » 8&HX} = 123 1,728
—JIZ2AIRESHI 90,000 » 154 1,350
—2EYHERE 350,000 * 23l 700
— = A ==2l 200,000 * 2CH * 33| 1,200
—=ADJ|, BEH, EUARES
175,000 * 20CH *23 7,000
—g&4a ¥372Y, ME 125,000 * 43 500
—QoIM ¥ [olg HMZE 50,000 *x 165 * 23 1,600
—d - 2= = 15,000 * 2CH = 123 360
—JIEt==EH| 2,500,000 2,500
Oo=2d=+¢ 23,900
— =2 50,000 » 3652 18,250
— 22 50,000 » 113 5,650
Oz ekl 4,000,000 4,000
202 044l 18,468 19,440 A972
01 =UH0iH| 18,468 19,440 AQ72
OJI=2g! =8g8ol
20,000 * 156 62 * 12& = 90/100 * 95% 18,468




